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Part 1A - Sentence translation

The task for all of Part 1 is to translate the elicitation sentence examples as best you can. Please
be sure to comment whenever a translation must be adjusted to accommodate the way it must be
said in your language.

Ala) I s3 tfiljg kdlad makélif n3 Kukimd 133m ndd gwddmb idzuugd.

i s3 tlil3-ja kdlad ma-kél-if n3 Kukimd I153m n3'-é gwddmb i-d3uigd

PRN.3".sg COP write-RCM paper c6-voice-LOC that c3-chief country PRN.3".sg-P3 ask.for c8-apology

It is written in the press that the president demanded apologies.

Comment: The verb ‘to claim’ does not exist in Makaa and can’t be replaced in this context with
the verb ‘to write” as the press is [-human]. To obtain the exact meaning rendered in Ala, the
sentence has to be expressed obligatorily with a cleft construction. The pronoun i is used in
Makaa to refer to classes 1, 3, 5, 7, 8, 9 or 10 [-human] objets or things depending on the
contextual referent. It can also function as an impersonal pronoun as in Ala. Apology is always
used in the plural form in Makaa.

b) Mwa fikil ndd bugia na a mpd jaldan.
mwan [ikGl na-a bugtla nd a mpa jalan.
c1-child school PRN.3".sg-P3 believe that PRN.3™.sg know answer
The pupil believed that he knows the answer
Comment: Note that due to its non existence in Makaa; the verb ‘claim’ has been replaced by
‘believe’. The replacement thus has an incident in A1b as the infinitival phrase complement ‘to
know the answer’ is replaced by the completive ‘that he knows the answer’, the only possible
solution.
C) Spies nda bugta na Bill mé mpd jalan.
Spies na-d bugia na Bill ma mpu jaldn.
Spies PRN.3".sg-P3 believe that Bill COP know answer
Spies believed that Bill know the answer
A2a) Buud mitfunda 6 nga tfi nd Kukuma 15om néé [ild n3 bjé.
b-uud mi-fiind3 6 ng i n3 Kukdma 153m na-é fil3 n3 bj-¢
c2-person c4-message SM.c2 PROG say that Chief country SM-F1 ask PRN.3'.sg c8-P0OSS.3sg
Town criers are saying that the president will ask for his.

Comment: Sentence A2a was slightly modified as the words ‘claim’ and ‘rights’ do not exist in
Makaa.

bi) *Orlando nadma ti kala [5p
Orlando na-ama tfi ka-13 [5p
Orlando PRN.3rd.sg-P2 say go-INF store
Orlando said to go to the store.

11 do not consider n3 as a subject marker but rather as the PRN.3", sg as it fails to mark agreement
between elements occupying the 15t and 2" positions respectively as seen in Bantu.



Comment: With the verb say held constant, A2b is not acceptable in Makaa as the complement
of the verb ‘say’ must be a completive, i.e. introduced by na ‘that’. However, if the main verb is
replace by tjel ‘love/like’, A2b becomes grammatical as shown below.
bii) Orlando ma tjél kal3 [5p
Orlando ma tfjel ka-HI3 [5p
Orlando cop like go-INF store
Orlando likes to go (or going) to the store.

C) *Orlando pnadma tfi ful dzisu kala [5p
Orlando na-ama tfi ful dzi-su ka-HI3 [3p
Orlando PRN.3rd.sg-P2 say for c7-POSS go-INF store
Orlando said for us to go (or going) to the store.
Comment: A2c is not acceptable in Makaa as the verb ‘say’ does not allow a prepositional
complement.

d) Orlando nadma tfi n3 sa kag [3p
Orlando na-ama tfi nd s3 ka-g [3p
Orlando PRN.3rd.sg-P2 say that PRN.1st.pl go-SUBJ shop
Orlando said that we [should] go to the store.
Comment: A2d is not acceptable in Makaa without the subjunctive marker —g.

A3a) Kukumda 135m nadma magia na paa dig zan dingu
Kukuma 12om pa-dma magila na na-a dig zan d-ingu
Chief country PRN.3rd.sg-P2 agree/confess that PRN.3rd.sg-P3 see c¢5.ceremony ¢5.AM-DET.ANAPH
The president confessed/admitted that he had seen the (that) ceremony
b) Same as A3a
The president admitted that he had seen the ceremony.

C) Séé tfi nd Alice nadma ka ikaad misam.
s3-€é tfi na Alice pa-ama ka i-kaad mi-sédm
PRN.1st.pl-F1 say that Alice PRN.3rd.sg-P2 go c8-reduce c4-sin
We will say that Alice went to confession.
Comment: The verb to confess does not exist in Makaa. The Makaa rather use the verb phrase ‘to
go to reduce sins’ to express the meaning of confessing one’s sins.

A4a) Okdm 6 bugild n3 makwdgu méé sé na b3l étfudu 6 ku gi bwa bwdn.
0-kdm o bugia nd ma-kwogu ma-é sa nd b3l o-tfudu 6 ku g bwa b-udn.
c2a-monkey SM.c2 believe.PRS that c6-rocks SM.c6-F1 do that other c2a-animal SM.c2 NEG kill PRN.3rd.pl c2-child
The monkeys believe that the rocks will prevent other animals from killing their young ones.
Comment: ‘The Makaa equivalents of predators’ and ‘prevent’ are entire sentences. For
economy purposes, sentence Ada was revised, but the initial meaning was kept unchanged.

b) Inttnd i bugild nd magwagis méé sd n3 intiunu jabubwag i ku d3 bwa bwdn.

I-nuund i bugta nd ma-gwagHa ma-é sd na I-nutnu i-abubwags i ku da bwa b-udn.
c8-bird SM.c8 believe.PRS that c6-thorn SM.c6-F1 do that c8-bird SM.c8-big SM.c8 NEG.SUBJ kill PRN.3rd.pl c2-child



The birds believe that the thorns will stop bigger birds from eating their young ones.
Comment: the verb ‘expect’ has been replaced by ‘believe’ in A4a as it does not exist in Makaa.

C) Mitan mi bugHa nd opwaé 6 sa na mfi
mi-tdn mi bug#a nd 6-nwa 6 sa na mfi
c4-white.man SM.c4 believe that c2-snake SM.c2 COP with benefit
White men believe/consider that snakes are beneficial.
Comment: The verb bugia ‘believe’ in Adc can also mean ‘consider’ in this particular context.

d) Mpj3 nga k& n3 finga néeé déégé jass.
mpj3 nga k& nd finga na-é déég-€ jasd
dog PROG afraid that cat PRN.3rd.sg-F1 snatch-PRN.OM.3Sg bone
The dog is afraid that the cat will snatch his bone.

e) ndzuu baud ma mag#a na Bill nkul kwag i-f€j.

nazut b-ttd ma magta na Bill nkul kwag i-féj
commander c2-person P1 accept/acknowledge that Bill can afford c8-work
The boss has acknowledged that Bill was capable of doing the work.

f) Mwa fikdl nadma dig na jaldan j€ jé dzii mpuja

m-udn shikdl na-ama dig na jaldn j-£ j-é dgii mpu-ja

cl-child school PRN.3rd.sg-P2 see that c3.answer AM.c3-POSS.3Sg SM.c3-F1 require know-NOM.
The student saw that the answer would require skills.

g) Bwdn 6fikil 6 mpu na jigili dgan ma di baagia mwow bwa buga [ikil ma luf.
b-uén 6-fikil 6 mpu na jigii dz-an ma di baagHa m-woéw bwa buga [ikial ma Id-/.
c2-child AM.c2-school SM.c2 know that c7.teacher c7-POSS P1 HAB keep c6-day PRN.3".pl break school REL.c6 head-LOC
The students know that their teacher keeps in mind the days they are absent in school.

h) kdalad makél i nga tén nd Kukuma 133m nad mpu madd filma.
kdlad makél i nga tén nd Kukumda 153m na-a mpu maad filma
cl.paper c6.news SM.c1 PROG say that Chief country PRN.3.sg-P2 know woman film
The newspaper reveals that the president knew the actress.

Aba) Ruth nadma [ila éntambije nd bwa jag bwdn idin
Ruth na-ama [ila 6-ntambije n3 bwa ja-g b-udn i-din
Ruth PRN.3rd.sg-P2 ask c2-servant that PRN.3rd.pl give c2-child c8-food
Ruth asked the servants to give food to the children.
b) Ruth nadma [ila dntambijé nda bwa m3 di sd nd madswé ma ku bul fwaag
Ruth na-ama [ila o-ntambije nda bwa ma di sG n3 madswo ma ku bul fwaag
Ruth sM-P2 ask c2-servant as PRN.3rd.pl P1 HAB do that c6.water SM.c6é NEG QUANT boil
Ruth has asked the servants how to stop the water from boiling too long.
C) Ruth nadma [ila ntambije wala bwéé dgaaw dndzbén nd dswéw i sa nki béw
Ruth pa-ama [ila o-ntambije wala bwa-é dzaaw o-nd3én nd dz-woéw i sa nki baw
Ruth PRN.3rd.sg-P2 ask c2-servant time PRN.3rd.pl-F1 tell c2-visitor that c5-day PRN.c5 COP COP bad
Ruth asked the servants when they would tell the tourists the weather is bad.

d) Ruth nga [ila n3 mantfwdmd ma Idstg bibja zdnif



Ruth nga [ila n3 ma-ptfwamad ma Ilds-ig bibja zan-if
Ruth PROG ask that c6-boy SM.c6 talk-suBJ little ceremony-LOC
Ruth is asking that the boys say a few words at the ceremony.
A6a) Ruth néé dzaaw budd nd bwa jag bwén idin
Ruth na-é dzaaw b-udd nd bwa ja-g b-udn i-din
Ruth PRN.3rd.sg-F1 tell c2-woman that PRN.3rd.sg give-SUBJ c2-child c8-food
Ruth will tell the women to give food to the children.

b) Ruth nadma dsaaw budd ndd bwsm? di sé nd madswé ma ku biil tfwadg
Ruth pa-dma dzaaw b-udd nda bwa=ma3 di sG nd madswé ma ku bul fwaag
Ruth PRN.3rd.sg-P2 tell c2-woman as PRN.3rd.pl-COP.PRS HAB do that c6.water SM.c6 NEG QUANT boil

Ruth has told the women how one does to stop water from boiling too long.

C) Ruth nga dzaaw budd wala néé dzaw ondsdn nda dz-wéw jé ba na
Ruth nga dzaaw b-udd wala na-é dzaw o-nd3én nda dz-woéw i-é ba nd
Ruth PROG tell c2-woman time PRN.3rd.sg-F1 say c2-visitor as c5-day SM.c5 COP like
Ruth is telling the women when she would tell the tourists how the weather will look like.
d) Ruth nadma dgaaw budd na ngwal mpadigd bwa ma d3ald na Ids bibja zan-
Ruth pa-adma dzaaw b-udd nad ngwal mpadiga bwa ma d3ald na Ids bibja zan-i
Ruth PRN.3".sg-P2 tell c2-woman that QUANT between PRN.3rd.sg ?? ought to talk little ceremony-LOC
Ruth told the women that one of them should say a few words at the ceremony.

AT7a) Orlando nadma sa né mantfwamad ma mpdg nd Bill ama tfjél kdlad wingu
Orlando na-ama sd nd ma-ptfwama ma mpu-g na Bill ama tfjél kalad w-3ngu
Orlando PRN.3.sg-P2 do that c6-boy sM.c6 know-suBJ that Bill p2 like book c1-DET
Orlando informed/(or made it known to) the boys that Bill liked the (that) book.
b) Orlando nadma sé nd mantfwamad ma digig zdn
Orlando na-éma sd na ma-ntfwamd ma dig-ig zan
Orlando PRN.3".sg-P2 do that c6-boy SM.c6 see-SUBJ ceremony
Orlando persuaded the boys to watch the ceremony.
ABa) Sdadmoa tfi na mantfwamd na séé wiing édzakds
S$3-ama tfi na ma-ntfwamd nd s-é wiing o-dzakds
PRN.1%.pl-P2 tell to c6-boy that PRN.1%.pl-F1 chase away c2-donkey
We told the boys that we would yell at the donkeys.
b) *Sdadma tfi na mantfwama wiing#la odzakds
Sa-ama tfi na ma-ptfwama wiing-13 o-dzakds
PRN.1%.pl-P2 say to c6-young boy chase-INF c2-donkey
We promised the boys to yell at the donkeys.

Comment: A8b is ungrammatical because in Makaa, an infinitival phrase occurring as a
complement of a main verb should directly follow the latter (A8c). For A8b to be grammatical,
the infinitival phrase has to act as the subject of a subordinate clause (A8d).

2 This morpheme needs further investigation. It looks like SM.C8, like P1 though it does not mark past in
ABDb or d. it functions like a copula or an anaphoric pronoun (see A7d also). It occurs solely with the 1%,
2" and 3" person pronoun within present tense constructions. 1 might be wrong but I will consider it a
copula for now.



C) Sddma funda wiingila odzakds.
sd-dma funda wiing-HI3 6-dzakds
PRN.1%.pl-P2 afraid chase-INF c2-donkey
We were afraid chasing the donkeys away.
d) Sddma tfi na mantfwamd nd wiing#la odgakds i sa bawla.
sé-ama tfi na ma-ntfwadmad nd wiing-HIa o-dzakds i sa baw-HI3
PRN.1%.pl-P2 say to c6-boy that chase-INF c2-donkey PRN.3".sg COP be.bad-INF
We said to the boys that driving away donkeys is not fair.

A9a) Mantfwamad madma [ila n3 s3 digig bwa bwa nga gwiimb.
ma-ntfwdmad ma-ama [ila na s dig-ig bwa bwa nga gwiimb
c6-boy SM.c6-P2 ask that PRN.1st.pl see-SUBJ PRN.3".pl PRN.3".pl PROG play.
The boys demanded that we should watch them (as they are) playing.
b) Mantfwama madma [ila nd bwam tfjel dig s s nga gwiimb.
ma-ntfwamd ma-dma [ila nd bwa=ma3 tfjél dig s3 s3 ngs gwiimb
c6-boy SM.c6-P2 ask that PRN.3".pI=COP.PRS wish see PRN.1%.pl PRN.1%.pl we PROG play
The boys demanded that they wish to watch us (as we) playing.

A10a) Ndzud buad nga fila nd s bwdddig iwéma iga
Nd3uu b-uid nga fila né sé bwddd-ig i-wéma i-ga
commander c2-person PROG ask that PRN.1%.pl wear-SUBJ c8-shirt AM.c8-DEM
The boss is requiring/asking that we wear these shirts.

b) Ndzuu baud nga [ila s na sa bwdddig iwoma iga
Ndzuu b-tad nga [ila sd nd s3 bwddd-ig i-wéma i-ga
commander c2-person PROG ask PRN.1%.pl that PRN.1%.pl wear-SUBJ c8-shirt AM.c8-DEM
The boss is asking us that we wear these shirts.

Alla) Buda bisu bwam jidd tfjél nd s3 jawlg dzuldls figd
b-udd bisu bwa=ma jidd tfjel nd s3 jaw-ug dzula-HI3 [iga
c2-woman AM.c2-POSS PRN.3".pl =COP.PRS rather like that PRN.1%.pl stop-SUBJ drive-INF cigarette
Our wives rather prefer that we stop smoking.

b) *Buda bisu bwéé jida tfjél [ul disu nd s3 kag fwodg na d3ulals figd
b-Udd bi-su bwa-é jidd tfjél ful di-su nd sé ka-g fwodg na d3ula-13 figa
c2-woman AM.c2-POSS PRN.3".pl -F1 rather like for AM.c5-POSS that we go-SUBJ ahead with drive-INF cigaret
Our wives would rather prefer for us to continue smoking.
Comment: The presence of the benefactive ‘ful disu’ is not tolerated in Al1b for two reasons.
Firstly, it never occurs as the first object of a verb. Secondly, it clashes with the accepted
complement s3 ‘we’. Without it the sentence is grammatically correct.
C) Budd bisu bwéé jidd tjel kala fwdog na dzulals figd
b-udd bi-su bwa-é jidd tfjél ka-Hla fwodg na dzla-13 figd
c2-woman AM.c2-POSS PRN.3".pl -F1 rather like go-INF ahead with drive-INF cigaret
Our wives would rather prefer to keep smoking.

Al2a) Séé bugtla n3 idswbwda jé bid na bwdn 6 dag



S3-é bugia n3 i-dswéwda i-é bid n b-udn 6 da-g
PRN.1%.pl -F1 hope that c8-nurse SM.c8-F1 let that c2-child SM.c2 eat-SUBJ
We will hope that the nurses will let the boys eat.

b) *Sddma bugtla ful Mary na péé tfon mudid jéf
S$5-ama bugila ful Mary na na-é tfon m-uud j-€f
PRN.1%.pl-P2 hope for Mary that PRN.3".sg-F1 surpass c1-person AM.c1-QUANT
We hoped for Mary to be the winner.
Comment: As in 11b, the structure ‘to verb for X...’ is a forbidden word order in Makaa as it
always yields ungrammatical constructions. For A12b to be correct it has to be written as below.

bi) Sadma bugia nd Mary néé tfén maud jéf
S$3-adma bugtla nd Mary pa-é tfon m-uad j-f
PRN.1%.pl-P2 hope that Mary PRN.3".sg-F1 surpass c1-person AM.c1-QUANT
We hoped that Mary will be the winner/will win.

C) S3m bugta nd Mary néé tfon maad jéf
Sé=m bugila nd Mary na-é tfén m-uad j-&f
PRN.1%.pl =COP.PRS hope that Mary PRN.3".sg-F1 surpass c1-person AM.c1-QUANT
We hope that Mary will win/will be the winner.

Al13a) Sam tfjel n3 mwdn wusu fénig maud jéf

S$8=ma3 tfjél n3 m-udn wu-su tfon-tg m-uid j-&f

PRN.1%.pl =COP.PRS want that c1-child AM.C1-POSS surpass-SUBJ c1-person AM.c1-QUANT
We want that our son be the winner. (?? in English)

b) Sam tfjel na odz6n 6 bidig bwdn bdn bwa gwiimbig

S4=ma3 tfjél n3 0-d3on o6 bid-ig b-udn b-an bwa gwiimb-ig

we=COP.PRS want that c2-visitor SM.c2 let-SUBJ c2-child AM.c2-POSS PRN.3.pl play-SUBJ
We want the visitors to let their children play.

C) Sam tfjel lwa od3bn isd imdkit bisu
S4=ma3 tfjél Iwa o-d36n i-sé i-mdkit bi-su
PRN.1%.pl =COP.PRS want show c2-visitors c8-things AM.c8-market AM.c8-POSS
We want to show our goods to the visitors.

d) John m3 tfjél n3 s3 bwamag mawala malasl
John m3 tfjél n3 s4 bwama-g ma-wala ma-153/
John COP.PRS want that PRN.1%.pl meet-SUBJ c6-hour AM.c6-three
John wants us to meet at three o’clock.

Al4a) Séé Iws 6dz6n nd okdm 6 di funds ontfi
55-é Iwd 6-dz6n na 0-kém o di funds o-ntfi
PRN.1%.pl-F1 show c2-visitor that c2-monkey SM.c2 HAB fear c2-gorilla
We will show the visitors that monkeys fear gorillas.

b) onds6n bwddma Iwdjow na okdm bwdda dé tfjel ontfi
0-nd36n bwa-dma Iws-jow n3d o0-kdm bwa-d di-€ tfjéel o-ntfi



c2-visitor PRN.3".pl-P2 show-PASS that c2-monkey PRN.3".pl-P3 HAB-NEG like c2-gorilla
The visitors were shown that monkeys do not like gorillas.

Al15a) Séé Iws ondzén nd okdm milam mi tfugé na fje na ontfi
$5-é Iwa 0-ndzén nd o-kdm mi-lIam mi fugé na fjé na o-ntfi
PRN.1%.pl-F1 show c2-visitor that c2-monkey c4-heart SM.c4 COP.NEG with calm with c¢2-gorilla
We will prove to the visitors that monkeys are worried about gorillas.

b) Ondsén bwddma Iwsjow nd 0kédm 6 fum dntfi
0-ndzb6n bwa-adma Iws-jow na o-kdm o6 fum o-ntfi
c2-visitor PRN.3".pl-P2 show-PASS that c2-monkey SM.c2 hate c2-gorilla
The visitors were proven that monkeys hate gorillas. (* in English)

A16a) Ndam i nga Iwa n3d ikdga ifukdl i nga tfjel mpa [éj
ndam i nga Iwd na i-kdaga i-fukil i nga tfjel mpu [éj
c7.evidence SM.c7 PROG show that c8-boy ASS.c8-school SM.c8 PROG like know work
The evidence is suggesting that the students are willing to work hard/well.

b) Jdma dzajow ma nd mwd mimbiug sa na adzu
~ama dzaw-jow ma nd m-uén mi-mbuig sa na adgu
PRN.3".sg-P2 say-PASS PRN.1%.sg that c2-child c4-prison cop with guilt
It has been suggested/said to me that the prisoner is guilty.
Al7a) Kdm nadma kag kumals liifi gwéw

kdm na-ama kag kiima-HI3 lii-f gwéw
monkey PRN.3".sg-P2 try-INF reach tree-LOC up
The monkey tried reaching the treetops.

b) *Mary nadma kag mwdn jé nd @ wadmbiag fum dé
Mary na-adma kag m-udn j-é na a wadmbila-g fum d-é
Mary PRN.3".sg-P2 try c1-child c1-POSS that PRN.3".sg sweep-SUBJ ¢5.room AM.c5-POSS
Mary tried for her son to clean his room. (* in English)
Comment: A17b is ungrammatical in Makaa because the verb ‘kag’ always needs to be followed
by a content verb as in Al7a.

¢) Mary nadéma kag tfi n3 mwdn jé né G wéémbilag fum dé’
Mary na-ama kag tfi na m-udn j-€ nd a waambila-g fum d-é
Mary PRN.3.sg-P2 try tell c1-child c1-POSS that PRN.3".sg sweep-SUBJ c5.room AM.c5-POSS
Mary tried to tell her son to clean his/her room.
Al18a) Kdm padma wisa jala mwadn jé idin
kém na-ama wusa ja-HIa m-udn j-€ i-din
monkey PRN.3".sg-P2 forget give-INF c1-child AM.c1-POSS c8-food
The baboon failed/neglected to feed her child.

b) Mwa fikul naédma kag jald fwdmé jalan
m-udn fikul na-ama kag ja-HIa fwamé jalan
c1-child school PRN.3".sg-P2 try give-INF real answer

3 The possessif adjective dé can refer either to Mary or her son.



The student tried to provide the right answer.
Comment: KS: The English elicitation sentence has an ‘implicative’ verb, which entails that the
speaker takes it as true that the student provided the right answer, whereas The student tried to
provide the right answer does not entail that the student succeeded in that attempt. Does the
Makaa sentence really have the ‘manage’ reading or does it have the ‘try’ reading? NI: The
Makaa sentences in (A118b) have the ‘try’ reading, that is, he tried but did not succeed to give
the right answer. For (A18b) to really have the ‘manage’ reading, it should be translated as in
A18bi:

bi) Mwa fikul nadma kwig jala fwamé jalan
m-udn fikul na-adma kwig ja-Hla fwdmé jaldn
c1-child school PRN.3".sg-P2 be.able give-INF real answer
The student managed to provide the right answer.

C) Mibuug mi dzald na mpu Iéfa na misandilé mibulg ful nd bwa kwaddiag bwa idin
mi-butig mi d3gala na mpu Ids-a na mi-sandilé mi-buug ful nd bwd kwddia-g bwa i-din
c4-prisoner SM.c4 ought to know talk-RCM with c4-guard AM.c4-prison for that PRN.3".pl add-SUBJ PRN.3".pl c¢8-food
The prisoners need to convince the guards to give them more food.

d) Wamadi bwadma t3l nd bwa k3 liumbila na mizizin
w-amadi bwa-dma tal né bwa k3 lumbila na mi-3i3in
c2-leader PRN.3".pl-P2 state/decide that PRN.3".pl go attack.RCM with c4-enemy
The leaders decided to go and battle with the enemy.

e) Ndzow ma dzald na ba fubdn fufwdgu na nd ondzén 6 wédsig
nazow ma dzala na ba fubdn fufwdgu na nd o-ndzén 6 wods-ig
house COP.PRS ought to be clean prior with that c2-guest SM.c2 arrive-SUBJ
The house needs to be clean prior to the guests’ arrival.

f) Séé kwamsa tijla d3sa 6 ndsén bwa fin da mpwdkugu fi ji
Sé-é kwamsa tij-HIa dza 0-ndzon bwa fin da mpwokagu [i ji
PRN.3".pl-F1 prepare leave-INF when c2-guest PRN.3".pl finish eat evening dawn REL
We will prepare to leave when the guests have eaten dinner.

g) S nga kwamsa ningdlila mwané sadi ndzow if3jif
sd nga kwamsa ningal-Hla mwane s3-di ndzow I-f3j-if
PRN.1%.pl PROG prepare introduce-INF money PRN.1%.pl-LOC house c8-work-LOC
We are planning to make money for our company.

A19a) dsis3* nda 03wog 6 tfjél dil3 k3 famb3 ifwdnif
dgi=sa nda 0-3wog 0 tfjel di-HI3 ka famba i-fwan-if
PRES=COP as.if c2-elephant sM.c2 like HAB-INF go field c8-corn-LOC
It seems like the elephant like going to the cornfield.

b) dzisa nda naunu nddma da ibuma
dzi=sa nda nuunu  npa-dma  da i-buma

4 a3i is a presentatif, 1 gloss it PRES while waiting for an appropriate gloss from you. It is equivalent to the
English ‘it’. In the absence of s3, it also functions as a copula (see 20c-g).



PRES=COP as.if bird PRN.3".sg-P2 eat c8-seed
It appears/seems/looks like a bird have eaten the seeds.

¢) Intind i ning3 dzjé tjél ibums

I-nulnu i pinga dzj€ tjel i-buma
c8-bird SM.c8 again likely want c8-seed
The birds are likely to want more seeds.

d) Ontfwdma 6 dzald na ja itén sd m3 d3
0-ntfwamd o dzald na ja i-tén sd ma da
c2-boy SM.c2 ought to give c8-cow thing for eat
The boys ought to feed the cattle/The boys ought to give something to eat to the cows.
e) Mpud jé dgjé ntaman mémpag
mpudu i-é dgjé ntaman ma-mpag
cl.rain SM.c1-F1 certainly ruin/destroy c6-crop
The rain will certainly ruin the crops
f) Mpud ja tééd ntamdnila mémpag
Mpudu i-a tééd ntaman-HI3 ma-mpag
cl.rain SM.c1-P3 begin ruin/destroy-INF c6-crop
The rain began to ruin the crops.
g) Maud pdzow dfaf mu badabada tfilje okdlad
m-uid pdgow éfaf mu bada-bada tfilje o-kdlad
c2-person house beside become great-great writer c2-book
Our neighbor has turned out to be a famous writer.
(I.e., we learned of his fame sometime after we had met him)

A20a) John nadma jag na mingulje misa ntfidjd
John na-ama jag nd mi-ngulje mi-sa N-tfida-ja
John PRN.3.sg-P2 be.certain/think that c4-light SM.c4-COP PART-light-PART.
John was certain that the lights were switched on.

b) Jé tfigjow nd ad3ii s3 nd mab&E
i-6 iga-jow nd adgli s3 nd mabéE
PRN.3".sg-F1 hold-PASS that defendant cop with c6.guilt
It will appear that the defendant is guilty. (Even if he is not)

C) d3i nda mantfwamd méé ka sisa
d3i nda ma-ntfwamad ma-é ka sisa
PRES.COP as.if c6-boy SM.c6-F1 go fishing
It is likely that the boys will go fishing.

d) d3i nda mantfwama méé dzjé k3 sisa
d3i nda ma-ntfwamad ma-é dzj€ ka sisa
PRES.COP as.if c6-boy SM.c6-F1 likely/probably go fishing
It is as if the boys will probably go fishing. (l.e., it is more likely than not)

e) dgi bibslé n3 kjg ngs gwéd



d3i bib3lé n3 ki€ ngd gwd
PRES.COP true that south PROG warm
It is true that the south is warmer.

f) dgi nwdls ndd Mary 6 ndama taw fwodg

d3i nwa-HIa nda Mary 6 na-éma téw fwdédg
PRES.COP be.good-INF as Mary FOC PRN.3".sg-P2 stand ahead
It is good as it is Mary that won/is the winner.

Q) d3i bibalé nd mantfwamad mdadma sd nd bwadn 6 dag ikwaand
dzi bib3lé nd ma-ntfwamd mé-dma sa na b-udén 6 da-g i-kwaand
PRES.COP true that c6-boy SM.c6-P2 do that c2-child SM.c2 eat-SUBJ c8-plantain
It is true that the boys made (make do) the children eat the plantains.
Comment: A20g is true in the situation where the boys instruct the children to eat the plantains.
It can also be true for the situation where the boys got the children to eat plantains by simply
making sure there was nothing else to eat (i.e., they never actually make a request). For A20g to
render the meaning ‘they physically force the children to swallow plantains by stuffing them in
their mouths, it should be written as follows:
Qi) d3i bib3lé nd mantfwamd mdadma nga nasila bwdn ikwaandi mpuf
a3i bib3lé nd ma-ptfwdma me-ama nga pasta b-udn i-kwaand mpu-f
PRES.COP true that c6-boy SM.c6-P2 PROG stuff c2-child c8-plantain mouth-LoC
It is true that the boys were stuffing plantains in the the children’s mouths.
h) M3 s3 na mintaag ndd mudd jé€f néé mpu bibals nd
ma s3 na mintaag nda m-uud j-é€f na-é mpu bibal3 nd
| cop with c4.joy/happiness as c1-person AM.C1-QUANT PRN.3".sg-F1 know truth REL
I am happy as everyone will know the truth.

A21a) Sadma ban gusdld matwa
$3-dma ban gusa-HI3 matwa
PRN.1%.pl-P2 deny wash-INF car
We denied washing the car.

b) Bwdn 6 ma fin glisa matwad
b-udn 6 ma [in gusa matwad
c2-child sm.c2 P1 finish wash car
The children have finished washing the car.

C) Sdd nga tfja dig ndd sdad nkul dzigii ssmbd nd

$3-d nga tfja dig nda sd=a nkul dzigii sembd n3
PRN.1%.pl-P3 PROG try look as PRN.1%.pl=P3 can teach together REL
We discussed teaching a course together.

d) Baud mindséw mjdfaf bwadd kwanz Idsila na izimbi
b-tud mi-ndzéw mi-afaf bwa-d kwanz Ids-HIa na i-zimbi
c2-person c4-house AM.c4-beside PRN.3.pl-P3 avoid talk-INF with c8-soldier
The neighbors avoided talking to the soldiers.



A22a) Alice [i mpl n3 bwdn bwéé mpti jalan
Alice [i mpu na b-udn bwa-é mpu jalan
Alice EVID know that c2-child PRN.3".pl-F1 know answer
Alice did know that the children would know the answer.

b) Alice ma mpu dza bwdn bwéé Iwa jigii kdlad ji
Alice ma mpu d3a b-udn bwa-é Iwa jigii kdlad ji
Alice cop.PRS know when c2-child PRN.3.pl-F1 show teacher book REL
Alice knows when the children will show the book to the teacher.

C) Alice ma mpu sé bwdn bwa mpu ji

Alice ma mpu s@ b-uén bwa mpu ji
Alice cOP.PRS know c7.thing c2-child PRN.3".pl know REL.c7
Alice knows what the children know.

A23a) Mantfwamd mddma mpu na Alice néé mpu jalan

ma-ntfwamad ma-dma mpu na Alice pna-é mpu jalan
c6-boy SM.c6-P2 know that Alice PRN.3.sg-F1 answer

The boys knew that Alice will know the answer.

b) Mantfwamad mad mpu wald Alice ndad tén kiukumd 153m Idn ji
ma-ntfwamd ma-a mpu wala Alice na-a tén kukumda 15om lan ji
c6-boy SM.c6-P3 know C5.time Alice PRN.3".sg-P3 tell chief country story REL.c5
The boys knew when Alice told the story to the president.

C) Alice nadma bwej mpu mijalan bwdn bwéé kwéj mja

Alice na-dma bwej mpt mi-jalan b-uén bwa-é kwéj mja
Alice PRN.3.sg-P2 since know c4-answer c2-child PRN.3".pl-F1 guess REL.c4
Alice knew already which answers the children would guess.

A24a) Madma dig n3 matii ma nga wu Mary nulif
ma-dma dig nd matii ma nga wu Mary nal-if
PRN.1%.sg-P2 see that c6.blood SM.c6 PROG get.out Mary body-LOC
| saw that Mary was bleeding.

b) Madma dig kwdgt i ngs dad mbimbin

Ma-ama dig kwdgu i nga dad mbimbin
PRN.1%.sg-P2 see ¢5.rock SM.c5 PROG roll hill

| saw the rock roll(ing) down the hill.

C) Kwdgu jama digjow i ngd dad mbimbin

kwogu i-ama dig-jow i nga dad mbimbin
c5.rock SM.c5-P2 see-PASS PRN.c5 PROG roll hill
The rock was seen rolling down the hill.

A25a) Madma gwag nd bwdn 6 [ikdl 6 di gwag mintaag dsd mavagilé mad ldlé ma

ma-ama gwag na b-udn 6 [ikdl 6 dif gwag mintaag dza mavagié ma-a lal-¢ mad
PRN.1%.sg-P2 hear that c2-child ASS.c2 school SM.c2 HAB hear c4.joy when c6.exam SM.c6-P3 strong-NEG REL.c6



I heard that students are happy when exams are not difficult.

b) Madma gwag madswé ma nga tfwa lungdf
ma-ama gwag madswo ma nga tfwa lungad-f
PRN.1%.sg-P2 hear c6.water SM.c6 PROG drip bucket-LOC
| heard water dropping in the bucket.

C) Madswo madma gwagjow ma nga tfwa lungdf
madgwo ma-dma gwag-jow ma nga tfwa linga-
c6.water SM.c6-P2 hear-PASS PRN.c6 PROG drop bucket-LOC
The water was heard dropping in the bucket.

A26a) ndzi ma na ma Mary mbam [ila idstigd
ndzi ma na ma Mary mbam [ila idgugad
only PRN.1%tsg with PRN.1%.sg Mary HYP ask c8.apology
As for me, Mary should have apologized/asked for forgiveness.

b) Madma gwag ndd misisagd mjdm mjdma nga woga na
ma-dma gwag nda mi-sisaga mi-am mi-dma nga woga nd
PRN.1%.sg-P2 hear as c4-muscle c4. AM-POSS SM.c4-P2 PROG rest/relax REL
| felt as my muscles were relaxing.

C) mpisa na ndiundu nddama lum-ja ji, mb3l nddma gwag ndd sisaga jé jama nga woga na
mpisa na ndiundi pna-ama luma-ja ji, mbal na-adma gwag nda sisaga j-é
behind with c3.injection PRN.3".sg-P2 inject-CAUS REL.c3 patient PRN.3".sg-P2 hear as ¢3.muscle AM.C3-POSS
i-dma nga woga na
SM.c3-P2 PROG relax REL
After he made himself injected, the patient’s felt as his muscles was relaxing.

A27a) Muud jéf nadma kddm nd John s3 nd mabéé
m-Ulid j-€f n3-Gma kddm n3 John s3 nd mabég
C1-person AM.C1-QUANT PRN.3.sg-P2 surprise that John COP with C6.guilt
Everyone was surprised that Jonh was guilty.
Comment: With the clauses order kept constant, the sentence ‘ The news that John was guilty was
surprising’ cannot be translated in Makaa, reason why it has to be modified as illustrated in A27a.

b) I'nga na sd tfun mpiild n3 ndd ntdgils Mary
inga na sa tfun mpu-HI3 nad na-a ntagia Mary
PRN.3".sg PROG PRN.3".sg do worry know-INF that PRN.3".sg-P3 make.uncomfortable Mary
He is bothered knowing that he had made Mary uncomfortable.

C) JigHi m3 d33ld na magia nd nddma vif na mavagié

JigHi m3 dzald na magila na na-dma vif na mavagilé
teacher COP.PRS ought to accept that PRN.3.sg-P2 make.a.mistake with C6.exam
The teacher has to accept that he made (a) mistake(s) at the exams.

d) Makal md bum ma Mary 6 mddma sd nd John wdédsig mpisa na wala
mak3l md bum ma Mary 6 ma-ama sG nd John wods-ig mpisa na wala



c6.announcement ASS.c6 pregnancy Mary FOC SM-P2 do that John arrive-SUBJ behind with time
IT is the announcement of Mary’s pregnancy that caused John to arrive late/late around the clock.

KS: This use of the hortative for a non-intentional cause suggests what the answer to one of my

questions about A20g will be.

NI: I have change HORT to SuBJ in the whole CCQR as the meaning, request or requirement, is
not completely consistent. I remember this same remark occurred in the AQ. Coming to think
about it, I have never attempted an explanation to why the subjunctive is used in constructions
where it is less expected in Makaa. Could it be that it marks a grammatical function not yet

identified? Food for thought.

e) I s3 nda fimbd mptil3 n3 to muid nad mpujé sa jama tfon ji
I 53 nda fimbé mpu-HI3 n3 to m-uld na3-¢ mpu-é sé i-dma 4on ji
PRN.3.sg COP like mystery know-INF that NEG c1-person PRN.3".sg-P3 know-NEG c7.thing SM.c7-P2 happen REL.c7
It looks like a mystery knowing that no one knows about what happened.

) Sd ngudiga i sd na sé mpug [éj ji dzi n3 sam tfjél kwanz mibuig
sd ngudiga i sd nd sé mpu-qg [éj ji dzi nd sé=ma tfjel kwanz mi-butg
c7.thing one SM.c7 do that PRN.1%.pl know-SUBJ work REL.c7 PRES.COP that PRN.1%.pI=COP like avoid c4-prison
The only reason to do this properly is that we wish to avoid prison.

g) John 6 nddma tfi n3 sé kag dzuwa
John 6 na-ama tfi na s3 ka-g dzuwa
John FOC PRN.3".sg-P2 say that PRN.1.pl gO-SUBJ rob
John was the one who proposed to us to go rob/It is John who proposed to us to go rob

h) John nddma fdadgta muud Bill naama dig jé
John na-ama faagia m-aad Bill na-ama dig jé
John PRN.3.sg-P2 reward c1-person Bill PRN.3.sg-P2 See REL.c3
John rewarded the man whom Bill saw.

A28a) Ozimbi 6 nga funda n3 bwéé sd kukimd 135m fwén
0-zimbi 0 nga funda nd bwa-é sa kukuma I35m fwén
c2-soldier SM.c2 PROG be.afraid that PrRN.37.pI-F1 do chief country ashame
The soldiers are afraid that the president will be ashamed of them.

b) Ozimbi 6 nga funda magi3ls n3 bwddma tip
0-zimbi 0 nga funda magila-HIa na bwe-ama tup
c2-soldier SM.c2 PROG be.afraid admit-INF that PRN.3.pI-P2 run
The soldiers are afraid to admit that they ran.

A29a) Cleopatra nga fin na tfjé na dgi nddma ja Caesar bugd dzé dzéf
Cleopatra nga [in na tfjé na dzi na-ama ja Caesar bugad d3-£€ dz-&f
Cleopatra PROG regret with why with what PRN.3™.sg-P2 give ¢7.Caesar trust AM.C7-POSS AM.c7-QUANT
Cleopatra regrets that she trusted Caesar.

b) Cleopatra nga fin na tfjé na dgi nddma kalan Caesar ibdwbdw imakél
Cleopatra nga [in na tfjé na d3i na-ama kalan Caesar i-baw-baw i-makél
Cleopatra PROG regret with why with what PRN.3".sg-P2 transmit Caesar c8-bad-bad AM.c8-c6.news



Cleopatra is regretting why she transmitted bad news to Caesar. (?? for many English speakers)
A30a) finga nad di el né masa jé dig di ja na isa ma da
[inga na-a di tfjél nd masa j-€ di-g di ja na i-sd ma da
cat PRN.3".sg-P3 HAB like that c1.master AM.c1-POSS HAB-SUBJ HAB give PRN.3".sg c8-thing ASS eat
The cat liked that his master always gave him treats to eat.

b) finga nad di el dik
[inga na-a di tfjel dik
cat PRN.34.sg-P3 HAB like food
The cat liked to eat treats.

C) finga m3 d# tfjél n3 masa jé [jélag na

[inga ma di tfjél nd masa j-¢ [jéla-g na
cat COP HAB like that c1.master AM.c1-POSS pet-SUBJ PRN.3".sg
The cat likes his master to usually pet him.

A31a) S3 nga bemb n3 o0zimbi bwdd ngéna fimsa na tfjé na dzi bwd ma vuf
s8 nga beémb na 0-zimbi bwa-d nga-e-na [imsa na tfjé na dzi bwa ma vuf
PRN.1%.pl PROG doubt that c2-soldier PRN.3".pl=NEG PROG-NEG-?? think with why with what PRN.3".pl P1 make.a.mistake
We fear that the soldiers do not regret their mistake.

b) O3ul6dimil3m 6 nga funda Idsi3 nd 0zimbi
0-3ulddimil3om o nga funda Ids-HI3 na 0-zimbi
c2-refugee sM.c2 PROG fear speak-INF with c2-soldier
Refugees are afraid to speak to the soldiers. (* in English)
A32a) S3 nga gwdg Jwén na tfjé s3 [igé kwiid bwdn dsa bwddma ngé tij wd

sd nga gwog fwdn na tfjé s3 [igé kwiid b-udn dza bwa-dma ngé tij wa

PRN.1%.pl PROG hear ~ shame with why PRN.1%.p] COP.PAST.NEG help c2-child when PRN.3".pl-P2 PROG leave REL.c2
We are ashamed because we did not help the children when they were leaving.

b) Kukimd négama gwadg fwén Idsila na okwiindje bé

Kukuma na-ama gwog fwon lds-HIa na o-kwiindje b-&
chief PRN.3.sg-P2 hear shame talk-INF with c2-helper AM.c2-POSS
The Chief was ashamed to talk to his helpers.

A33a) [ nga sd s3 fwén n3 kukuma 155m ifé
i nga sd sa fwén na kukumda 15om i-[€
PRN.3".sg PROG do PRN.1%.pl shame that chief c3.country AM.c3- PRN.1%.pl.INCL
Nadma ka sisa dzd dadmb jdma teed ji
Na-dma ka sisa dga daomb i-adma teed ji
PRN.3".pl-P2 go fishing when c5.war SM.c5-P2 begin REL.c5

We are embarrassed that our president went fishing when the war began.
b) ['nga sd s3 fwén fil313 n3 bwa kwiidig s3
inga sd sa fwon [ila-HI3 n3 bwa kwiid-ig s3

PRN.1%.pl PROG do us shame ask-INF that they help-SUBJ us

We feel embarrassed to ask to be help.

A34a) Obigdmamp33nz bwddma gwdg mintadg ndd [3ngjd wdn jdma tdw fwédg n3



0-bigdmamp3inz bwa-adma gwag mintaag ndd [3ngjd w-dn i-dma tdw f[woédg na
c2-fan PRN.3".pl-P2 hear c4.joy as c3.team AM.c3-POSS SM.c1-P2 place ahead REL
The fans rejoiced as their team was successful/came first.

b) fangjd jdma sd zén ndd jama tdw fwodg na

Jangja i-dma sd zan nda I-dma tdw [wodg nd
c3.team PRN.3".sg-P2 do ceremony as PRN.c3-P2 place ahead REL
The team celebrated as it came first/was successful

A35a) Mingwamina mi nga kdam nd mampandé mddgugwdn ma mpujow
mi-ngwamina mi nga kdam na ma-mpandé ma-agugwdn ma mpu-jow
c4-authority SM.c4 PROG surprise that c6-law c6-new COP know-PASS
The authorities were surprised that the new laws were popular/known (by all).

b) *Na mampandé mddgugwdn ma mpujow i nga sd nd maud jef kddmig
nd ma-mpandé ma-agugwdn ma mpu-jow i nga s na m-uud j-ef kaam-ig
that c6-law AM.c6-new SM.c6 know-PASS PRN.3".sg PROG do that c1-person AM.c1-QUANT surprise-SUBJ
That the new law was popular was surprising for everyone.
Comment: A35b is ungrammatical because sentences beginning with ‘that X...” or ‘the fact that
x” are not allowed in Makaa.

C) Sddma kaam n3 mampandé mddgugwdn ma mpujow

s8-dma kaam nd ma-mpandé ma-agugwdn ma mpu-jow
PRN.1%.pl-P2 surprise that c6-law AM.c6-new SM.c6 Know-PASS
We were surprised (knowing) that the new law was popular.

A36a) *N3 kadje mikidd naama tadiga kaad dafufwdgi jama t3j sé mildm
na kadje mi-k3ad na-ama tadiga kiid a-fufwogi i-dma 43 sé mi-ldm
that judge c4-case PRN.3.sg-P2 remember sentence/case c1-prior PRN.3.sg-P2 hurt PRN.1%.pl c4-heart
That the judge remembered the prior sentence was upsetting to us.

b) Jdma 13 sé milém ndd kadjé mikasd naama tadiga kaid dfufwdgi
i-dma 43j sé mi-Ilam nda kadjé mi-k3dd na-ama tadiga kid a-fufwdgi
PRN.3".sg-P2 hurt PRN.1%.pl c4-heart as judge c4-case PRN.3™.sg-P2 remember sentence/case c1-prior
It was upsetting to us as the judge remembered the prior sentences.

C) N3 tfajila Iam digila buud 6 nga tfigs mabuwaf

na tf3j-HIa Idm dig-HIa b-tud o nga tliga mabuwa-
with hurt-INF heart see-INF c2-person SM.c2 PROG live c6.poverty-LOC
It is upsetting to see people living in poverty.

A37a) Ifinga i 1ol nasigildf
I-finga i lal ndzigiaf
c8-cat SM.c8 hard training
Cats are hard to train.

b) /s Ikl dgigikls ifinga
53 lal-HI3 dgigii-HI3 i-finga



PRN.3".sg COP hard-INF train-INF c8-cat
It is hard to train cats.
C) /' tf6 s3 nkul dgigiila ifinga
i 46 s3 nkul d3igili-HI3 i-finga
PRN.3".sg be.above PRN.1%.pl power train-INF c8-cat
It is hard for us to train cats.

d) *Ifinga i 46 s3 nkul dgigiila
i-finga i 46 s3 nkul dzigii-HI3
c8-cat SM.c8 be.above PRN.1%.pl power train-INF
Cats are hard for us to train.

Comment: A37d is ungrammatical because the structure of the aforementioned sentence strands

the internal complement of the verb dzig#ls ‘to train’, i.e. ifinga ‘cats’. It thus renders a meaning
not acceptable in Makaa. On the other hand, the sentence becomes grammatical if the entire verb
phrase dzig#ltla ifinga is moved to sentence-initial position as in A37e.

e) dzigiils ifinga i 46 s3 nkul

a3igili-HI3 i-finga i tf6 s3 nkul
train-INF c8-cat PRN.3".sg be.above PRN.1%.pl power
To train cats is beyond our power.

A38a) *Muud éga sa na mfi léfdla na né
m-uud é-ga sa na mfi léfa-HIa na né
cl-person AM.c1-DEM COP with worth talk.to.each.other-INF with him
This person is worth talking to.

b) /s3 na mfi Iéfdls na muud éga
i sa na mfi léfa-HIa na m-uud é-ga
PRN.3".sg is with worth talk.to.eo-INF with c1-person AM.c1-DEM
It is worth talking to this person.
Comment: / in A38b is cearly a pronoun (Impersonal pronoun, equivalent to the English ‘it”) and

not a Subject marker. Yes it does remain independent from a tense marker. It devocalises to [j] in
front of vowel-initial verb stems.

A39a) Paul naddma dzjé kwag sdla sd ga
Paul na-ama dzje kwag sa-HIa sé ga
Paul PRN.3".sg-P2 probably/certainly be.able do-INF thing DEM
Paul was probably able to do this.

b) Paul nkul dsjé 15 diga

Paul nkul dsjé 15 dgi-ga
Paul be.able/capabe probably/certainly read AM.C7-DEM
Paul is probably capable of reading this.

C) Paul nga gwag mintaag ndd d@ nkul sd sa ga nd
Paul nga gwag mintaag nda a nkal sé sd ga na
Paul PROG hear c4.happiness as he be.able do thing DEM REL



Paul is proud as he is able to do this.

A40a) kadje mikasd nddma ban nd muiad pddma guu muad
kadje mi-kaad pa-dma ban nd m-uad pa-ama guu m-uud
judge c4-case PRN.3".sg-P2 deny that c1-person PRN.3".sg-P2 Kill person
The judge denied that anyone had committed a murder.

b) kadje mik3sd ndédma ban nd mudid ka guu mauad
kadje mi-kdad pa-ama ban na m-uud ku guu m-aad
judge c4-case PRN.3".sg-P2 denie that c1-person NEG.SUBJ Kill person
The judge denied that anyone commits a murder
Comment: A40a has a generic meaning. It means that the judge has forbidden to any one to
commit murder. It is an appeal, which is the reason why the subjunctive is used. For A40b to
have a perfective reading, e.g., The judge denies that anyone has committed a murder (i.e., no
murders have taken place), it should read as in A40bi or A40bii.
bi) kadje mikisd nadma ban nd muad ndéma gud madd
kadje mi-kaad pna-dma ban na m-uad pa-ama guu m-uud
judge c4-case PRN.3".sg-P2 denie that c1-person PRN.3".sg-P2 kill person
The judge denied that anyone has committed a murder
or
bii) kadje mikasd nadma ban nd mudd fi gud maud
kadje mi-kaaod pna-dma ban na m-uad [i guu m-aad
judge c4-case PRN.3".sg-P2 denie that c1-person EVID.PAST Kill person
The judge denied that anyone has committed a murder
C) Jama banjow nd miuid nadma guu maad
i-dma ban-jow nd m-uud na-ama guu m-uud
PRN.3".sg-P2 denie-PASS that c1-person PRN.3".sg-P2 kill person
It was denied that anyone had committed a murder.
A41a) kadje mikdid pad [igé bugia nd mwa mibluug ndd ba na té dwala
kadje mi-kaad npa-a [i-gé bugila nd m-udn mi-butg na-a ba nad té dwala
judge c4-case PRN.3™.sg-P3 EVID.PAST-NEG believe that c1-child c4-prison PRN.3".sg-P3 be with NEG franc
The judge doubted that the prisoner had any money.
b) *kadje mik3ad ndda [igé bugia mwd mibulg bala na té dwala
kadje mi-k33d na-d fi-gé bugia m-udn mi-bulg ba-HIs n3 té dwala
judge c4-case PRN.3".sg-P3 EVID.PAST-NEG believe c1-child c4-prison be-INF with NEG franc
The judge doubted the prisoner to have any money. (* in English)
Comment: A41b is ungrammatical in Makaa because the verb bug#a ‘to believe’ requires a
completive introduced by the complementizer ns ‘that’.
A42a) Wddma tadiga nd ma fim dala 6/fG
wa-dma tadiga nd ma fim da-HI3 o-fi
PRN.2".sg-P2 remember that PRN.1%.sg hate eat-INF c2-fish
You remembered that | hate to eat fish.
b) Masds madma tadiga kwamsdla itén
ma-sds ma-ama tadiga kwamsa-HI3 i-tén



c6-girl SM.c6-P2 remember get.ready-INF c8-cow
The girls remembered to get the cows ready.
C) Buudum 6 nga t3digd n3 bwdd nt35 dgtiwé walak mpin
b-ttidum 6 nga tadiga nd bwa-d nt33 dsiwé wala-l mpin
c2-man SM.c2 PROG remember that PRN.3".pl -P3 cross river time-Ass flood
The men remember crossing the river when it was flooded.
d) Mpjé nagama tadiga sd sad dzigHi na ji
mpjé na-ama tadiga sa s3-a digii na ji
dog PRN.3".sg-P2 remember c7.thing PRN.1%.pl-P3 teach it REL.c7
The dog remembered what we taught him.

e) Masds méé tadiga dzi bwéé ja itén nd bwsa dag
ma-sds ma-é tadiga dzi bwa-é ja I-tén nd bwa da-g
c6-girl SM.c6-F1 remember what PRN.3".pl-F1 give c8-cow that PRN.3".pl eat-SUBJ
The girls will remember what they will feed the cows with
Comment: KS: Hortative again — are the girls presumed to be remembering what they have been
told to feed the cows with, or will the girls simply remember what cows eat, so that if someone
else is to feed the cows, that person can ask the girls for the right information? NI: both readings
hold. 1 think constructions whereby the subjunctive occurs should be given a particular attention
in Makaa.

A43a) Mad fimsa nd ma nkal sé sa dzief
ma-d fimsa nd ma nkul sé sa dzi-€f
PRN.1%.sg-P3 imagine that PRN.1%.sg can do c7.thing AM.c7-QUANT
I imagined that | could do anything.
b) *Mad fimsa b3l kikum
ma-d [imsa ba-HI3 kukum
PRN.1%.sg-P3 imagine be-INF rich
I imagined to be a millionaire. (* in English).
C) *Mad [imsa kjabila mavagilé
ma-d fimsa kjab-HI3 mavagilé
PRN.1%.sg-P3 imagine succeed-INF c6-exam
I imagined succeeding in my exams.
Comment: Since the word lottery does not exist in Makaa, I have replaced the VP ‘winning the
lottery’ by ‘succedding in my exams’. A43b-c are ungrammatical in Makaa because the
complement of the verb fimsa ‘to imagine’ is always introduced by the complementizer nd ‘that’.

d) M3 dzjé mpl sé bwéé [ila ma né ma sdg ji

ma djé mpu s bwa-é [ila ma na ma sa-qg ji
PRN.1%.sg certainly know c7.thing PRN.3".pl-F1 ask me that PRN.1%.sg do-SUBJ REL.c7
| know certainly what they will ask me to do.

A44a) John nééma tidiga ikdgs ifukil nd bws m3 dgald na I5 dkdlad bdn
John na-ama tadiga i-kdga i-fukal nd bwa ma dzald na 15 o-kdlad b-dn
John PRN.3".sg-P2 remember c8-kid AM.c8-school that PRN.3'.pl COP ought to read c2-book AM.c2-POSS



John reminded the students that they should read their books.

b) *John nddma tadiga ikaga ifukul 1515 okdlad bdn
John pa-éma  tadiga I-kdga i-fukul I5-HI5 o-kdlad b-dn
John PRN.3".sg-P2 remember c8-kid AM.c8-school read-INF c2-book AM.c2-POSS
John reminded the students to read their books.
Comment: Ad4b is ungrammatical because the verb t3diga ‘to remember’requires a completive
introduces by n3 ‘that’.
¢) *John pdéma tadiga 1515 okdlad
John p3-dma t3diga i-kégs i-fukul 15-HI3 o0-kdlad
John PRN.3".sg-P2 remember c8-kid AM.c8-school read-INF ¢2-book AM.c2-POSS
John reminded to read the books (* in English)
Comment: Ad4c is ungrammatical because those to whom the action described by the main verb
is addressed are absent (i.e. the complement of the verb remind). However, the sentence becomes
grammatical if the gloss is modified to read ‘John remembered to read the books’.
d) *ikdga ifukal bwddma tidigiow nd bws ma d3ald na I5 okdlad bdn
i-kdgd i-fukil bwa-dma tadiga-jow nd bws ma dgald na 15 o-kdlad b-dn
¢8-kid AM.c8-school PRN.3".pl-P2 remember-PASS that PRN.3".pl COP ought to read c2-book AM.c2-POSS
The students were reminded that they should read chapter 2.

Comment: A44d is ungrammatical because the verb to remind in Makaa belongs to the group of
verbs that cannot be passivized. Why? Does it have to do with the length of the verb stem? An
attempt of answer demands a deep analysis. KS: Interesting question. NI: Indeed.

e) *ikdga ifukil bwddma tadigjow 1515 okdlad bdn
i-kdga i-fukdl bwa-dma tidiga-jow 15-HI3 o-kdlad b-én
c8-kid AM.c8-school PRN.3".pl-P2 remember-PASS read-INF c2-book AM.c2-POSS
The students were reminded to read their books.

A453) Ikdga ifukal i nga 15 n Maria fige tfjél wéés mpddnza fukdl
i-kdga i-fukdl i nga 15 nd Maria [i-g€ tfjél wéés mpddnza fukil
c8-kid AM.c8-school sM.c8 PROG read Maria EVID.PAST-NEG like leave hall school
The students read that Mary was unwilling to leave the classroom.
b) Mary nadma tfila na i tfuge nadi mitadigdf bidila fukal
Mary na-ama tfila na i tluge na-di mi-tadiga-f bid-HIa [ukal
mary PRN.3.sg-P2 write that PRN.3".sg COP.NEG PRN.3".sg-LOC c4-thought-LOC leave-INF school
Mary wrote that it is not her aim/intention leaving the school.
C) ffutful maud padma nga pimbila nd madzuwoé mda nwdjé mpuy,
tfutful m-uid pa-ama nga pimbila nd madzuwoé ma-a pwa-€ mpu-f,
old c1-man PRN.3".sg-P2 PROG mumble that c6.water SM.c6-NEG be.good-NEG mouth-LOC
The old man mumbled that the water tasted bad,
vadd to muud figée gwag
vadd to m-uud [i-gé-€ gwag
but NEG c¢1-man EVID.PAST-NEG-PRN.3".sg understood
but no one understood him.

d) Mwdn nddma nga sé6g na to muid npda tfjélé na,



m-udn na-dma nga soog nd to m-uud na-a tfjél-€ na
c1-child PRN.3".sg-P2 PROG Whine that NEG c1-person PRN.3.sg-NEG like-NEG PRN.3".sg
The child whined that no one liked him,

vadd saama bugia nd nadma nga dsiidziig
vadd s3-dma bugta nd na-ama nga dzii-dzii-g
but PRN.1%.pl-P2 think that PRN.3".sg-P2 PROG Cry-cry-CONT
but we thought that he was just keeping crying.
A46a) ndzulje fina nadma kilm s malwaf na sa bisa bdwbdaw téf,

nazulje fina na-ama kiim sd ma-lwa-f na s bisa baw-baw té-f
conductor train PRN.3".sg-P2 shout PRN.1%.pl c6-ear-LOC that PRN.1%.pl COP bad-bad position-LOC
The conductor yelled to us that we were in danger,

vadd saama mpu n3 fina i fige nga za
vadd s3-dma mpu na fina i fi-ge nga z3
but PRN.1%t.pl-P2 know that c5.train SM.c5 EVID.PAST-NEG PROG cOme

but we knew the train was not coming.
b) Talje fwdg nddma kiim s3 malwaf nd sam dzald na kjej,
talje fwog na-adma kiim sd ma-lwa-f nd sd=ma dzald na kjej
person.place front PRN.3".sg-P2 shout PRN.3%.pl c6-ear-LOC that PRN.1%.pl=COP ought to leave
The guide yelled that we have to leave,

vadd to muud [ige sd nda nddma gwag sd naama tfi ji
vadd to m-uud [i-ge s nda na-dma gwag sd na-ama tfi ji
but NEG C1-person EVID.PAST-NEG do as.if PRN.3™.sg-P2 hear ¢7.thing PRN.3™.sg-P2 say REL.c7
but no one made as if he/she heard what he said.
C) ndzulje fina ndama kiim s3 malwaf na s wug 3iif, vadd s3 [ige magta wiila
nazulje fina na-ama kiim s ma-lwa-f na sé wi-g 3ii-f
conductor train PRN.1%.pl-P2 shout PRN.1%.pl c6-ear-LOC that PRN.1%.pl get.off-SUBJ track-LOC
vadd s3 [i-ge magta wi-Hla
but PRN.1%.pl EVID.PAST-NEG accept leave-INF
The conductor yelled to us to get off the tracks, but we refused to leave.

d) ndzulje fina ndédma kiim ful nd buld 6 wig 3iif, vadad s3 [igé mpu n3 sadi malwaf
0 naama nga kilm ma
ndguljie  finapa-éma  kiim ful nd b-uud 6 wi-g 3ii-f
conductor train PRN.3".sg-P2 shout for that c2-person SM.c2 get.off-SUBJ track-LOC
vadd sa [i-ge mpu nd sa-di ma-lwa-f 6 na-dma nga kiim mad
but  PRN.1s.pl EVID.PAST-NEG know that PRN.15.pl-LOC c6-ear-LOC FOC PRN.3'.sg-P2 PROG shout REL.c6
The conductor yelled to get off the tracks,but we didn’t realize that he was yelling at us.

AA47a) Jad nddma tfi na s3 nd mpuu neé nwon,
jad na-ama tfi na s na mpud na-e nwon
mum PRN.3".sg-P2 tell with PRN.1%.pl that rain PRN.3".sg-F1 fall
Mum warned us that it would rain,



vadad s3 [ige tfjelé gwag

vada s3 [i-ge tfjel-¢ gwag
but we EVID.PAST-NEG like- PRN.3".sg listen/hear
but we didn’t listen to her.

b) Jad nadma tfi n3 mpuu néé nwon,
Jad na-ama tfi nd mpud na-e nwoén
mum PRN.3".sg-P2 tell that rain PRN.3".sg-F1 fall
Mum warned/said that it will rain,

vadd saama tfi na obigamamp33nz n3 jdasa jé faan
vadd s3-adma tfi na 0-bigdmamp3inz na jdsa i-é faan
but PRN.1%t.pl-P2 tell to c2-fan that c7.sun SM.c7-F1 shine
but we assured fans that it would be sunny/or that sun will shine.

C) dswowda nddma kambia n3 s3 ku d3i [i jdsa

dswowda na-dma kambia na s3 ku dsi [i jdsa
doctor PRN.3.sg-P2 forbid that PRN.15.pl NEG.SUBJ stay under sun
The doctor warned us to avoid sitting under the sun.

d) dswéwda pnddma kambils dzija [i jasd
dswéwda na-ama kambila dzija [i jésa
doctor PRN.3".sg-P2 forbid sitting under sun
The doctor warned to avoid sitting under the sun.
Comment:KS: Comparing with 47c, is 47c a request or directive vs. 47d providing information
that one may choose to act on or not? NI: Both 47c and 47d can be considered either as a request
or a directive. Both constructions provide information one may choose to respect or disrespect.
The contrast between both constructions lies on the fact that, in 47c, the speaker, the listener and
any third party are concerned are called upon to respect the directive. On the other hand, in 47d,
the directive is generic and addressed to anyone, and not forced on the speaker, the listener(s), or
any third party.

A48a) *N3 muud jéf nddma ba na mabEE nga 4f3j Iém
nd m-uud j-€/ p3-6ma b3 n3 m3bEE nga 43j IGm
that c1-person AM.c1-QUANT PRN.3".sg-P2 be with c6.guilt PROG hurt heart
That everyone was guilty was upsetting
Comment: A48a is ungrammatical because Makaa does not allow sentences beginning with ‘that
X.... or the fact that X....

b) D3l ntén jé tf3j Idm

da-HI3 ntén i-é §3j Idm
eat-INF c7.meat SM.c7-F1 hurt heart
To eat meat would be upsetting.

C) *ful 6badabada wamadi dala ntén jé tf3j buud 6 di da ndsi ika wa milém
Jul 0-bada-bada o-amadi da-Hla ntén i-é tfaj b-uid 6 df da ndsi I-kd wd mi-lém
for c2-great-great AM.c2-leader eat-INF meat PRN.3".sg-F1 hurt c2-person SM.c2 HAB eat only c8-vegetable REL.c2 c4-heart
For important leaders to eat meat would upset the vegetarians.



A48c is ungrammatical because its structure makes that the translation makes no sense in Makaa.
For A48c to be grammatical it has to be written as in A48ci or A48cii.
Ci) Obadabada wdmadi 6 kd d3 ntén, jé 3] buud 6 di d3 ndsi ikd wd milém
0-bada-bada 0-amadi 6 kd da ntén, i-é §aj b-utd 6 di da ndzi i-kd wd mi-Iam
c2-great-great c2-leader SM.c2 HYP eat meat, PRN.3".sg -F1 hurt c2-person SM.c2 HAB eat only c8-vegetable REL.c2 c4-heart
If important leaders eat meat, it will upset the vegetarians.
Cii) Milém mi buud 6 di d3 nd3i ikd wd mjé §3j na digila 6badabada wamadi 6 ngs da
ntén
mi-ldm mi b-utd 6 df da ndsi i-kd wd mj-é t3j
c4-heart SM.c4 c2-person SM.c2 HAB eat only c8-vegetable REL.c2 SM.c4-F1 hurt
na dig-Hla 0-bada-bada 0-amadi 6 nga da ntén
with see-INF c2-great-great AM.c2-leader SM.c2 PROG eat meat
Vegetarians will be upset looking at important leaders eating meat.

d) Dala ntén jé tfa3j mildm mi buud 6 di da ndzi ikd wad
da-Hla ntép i-é tf3j mi-Idm mi b-uud 6 df da ndzi I-kd wa
eat-INF meat PRN.3.sg-F1 hurt c4-heart SM.c4 c2-person SM.c2 HAB eat only ¢8-vegetable REL.c2
To eat meat would upset the vegetarians.

) *N3 kukuma 155m néé dzdna tij sa na mfi
nd kukumd 123m na-é dzona tij sa na mfi
that chief country PRN.3".sg-F1 be.early leave COP with importance/worth
That the president leave® early is important.

f) *N3 kikumd 153m pnddma bwéj tij sa na mfi
nd kukumda 150m na-dma bwéj tij sa na mfi
that chief country PRN.3".sg-P2 act.prior leave COP with importance/worth
That the president has already left is important.

A49a) *N3 muid mitfunds néé dzéna wods sa nwdla
nd m-uud mi-tfund3 na-é dzéna wods sa nwa-HIa
that c1-person c4-message PRN.3".sg-F1 be.early leave COP be.good-INF
That the messenger arrive early is good.

b) [ nwa nd mutid mitfind3 dsénag wéds
i nwa nd m-uid mi-tfund3 d3éna-g woos
PRN.3".sg be.good that c1-person c4-message be.early-SUBJ arrive
It is good that the messenger arrive early.

¢) [nwa ful mutd mitfund3 n3 & dzénag wdds

i nwa ful m-aad mi-tfunda nd a dzéna-g wods
PRN.3".sg be.good for c1-person c4-message that he be.early-SuBJ arrive

It is good for the messenger to arrive early.

d) [ nwa dzdndls wéds
i nwa dzéna-HI3 wdds

5 why not ‘leaves‘? This question holds for A49a, and b too.



PRN.3".sg be.good be.early-INF arrive
It is good to arrive early.

€) ngwamina nddma tfi na i nwa nd maud jéf kjéjig

ngwamina pa-ama tfi nd i pwa nd m-aud j-&f kjej-ig
authority PRN.3".sg-P2 say that PRN.3".sg be.good that c1-person AM.c1-QUANT go/leave-SUBJ
The authority stated that it would be good for everyone to leave.

A50a) Sddma kaambila na ijigii nd bwa ku di kiim bwdn di malwaf
$3-dma kaambila na i-jigHt nd bwa ku di kiim b-udn di ma-lwa-f
PRN.1%.pl-P2 prevent to c8-teacher that PRN.3".pl NEG.SUBJ HAB yell c2-child LOC c6-ear-LOC
We prevented the teacher from yelling at the children.

b) SGdma bid n3 misandild mi fidhg mibutig s315 makw5

$8-dma bid nd mi-sadndild mi fjal-tg mi-buug s3-HI3 ma-kw)
PRN.1%.pl-P2 allow that c4-guard SM.c4 search.for-SUBJ c4-prisoner look.for-INF c6-weapon
We allowed the guards to search the prisoners looking for weapons.

C) Sdama jimb misandild nd bwa bwajig dgaw mibulg n3 ifjal jé ba

$5-dma jimb mi-sandils na bwa bwaj-ig dsaw mi-buug na i-fjal i-é ba
PRN.1%.pl-P2 force c4-guard that PRN.3".pl act.prior-SUBJ tell c4-prisoner that c8-inspection SM.c8-F1 be
We forced the guards to warn the prisoners about inspections.

d) Sddma magta nd bwa dzdnag fjal butd mpimdn
S$4-dma magila na bwa dzona-g fjal b-utd mpiman
PRN.1%.pl-P2 accept that PRN.3".pl be.early-SUBJ search.for c2-person morning
We permitted that inspection take place early in the morning. (?? For some in English).

Abla) Sddma I3b John nd a I3fag na dgwéwda
S5-ama I3b Johnnd a lds-ja-g na dswoéwda
PRN.1%.pl-P2 advise John that PRN.3".sg talk-RCM-SUBJ with doctor
We advised John to talk with the doctor.

b) Sadma 13b John na @ d33ld na I13fag na dswéwda
S3-ama I3b Johnnd a dzald na lds-a-g na dgwéwda
PRN.1%.pl-P2 advise John that PRN.3".sg ought to speak-RCM-SUBJ with doctor
We advised John that he should talk with the doctor.

Ab2a) Elsa nadma jaw ldsta na Martin
Elsa na-adma jaw lds-HIa na Martin
Elsa PRN.3".sg-P2 stop talk-INF with Martin
Elsa stopped talking to Martin.

b) Elsa nadma kaambila nd Martin Idstg na Julia

Elsa na-dma kaambila nd Martin Ids-ig na Julia
Elsa PRN.3".sg-P2 stop that Martin speak-INF with Julia
Elsa stopped Martin from talking to Julia.



C) Elsa naama figia ldsila na Martin
Elsa na-ama figtla las-HIa na Martin
Elsa PRN.3".sg-P2 stop speak-INF with Martin
Elsa stopped to talk to Martin.
Comment: For A52c to mean ‘Elsa stopped talking to Martin’, it has to be translated as in A52a.
AS52c can only be understood as ‘Elsa stopped in order to talk to Martin.” reason why the verb
jaw ‘to stop to verb’ is replaced by the verb figHa ‘to make a break during a walk or journey’ to
avoid any ambiguity as A52c can also have the first reading depending on the speaker’s
understanding of the sentence.
d) Elsa ndama ka na Ids#a na Bill fwég
Elsa na-dma ka na lds-Hla na Bill fwog
Elsa PRN.3".sg-P2 go with talk-INF with Bill ahead
Elsa continued talking to Bill.

e) same as d
Elsa continued to talk to Bill.

f) Elsa nddma ba Ilds na Bill, fin lds, kw3 lds
Elsa na-ama ba Ids na Bill, [in Ids, kwa lds
Elsa PRN.3".sg-P2 be talk with Bill, finish talk, still talk
Elsa kept talking to Bill.
g) Elsa naa mpa dila sa nd Bill gwagig mintaag dza d3éf
Elsa na-a mpu di-HI3 sd na Bill gwag-ig mintaag dza dz-£f
Elsa PRN.3".sg-P2 know HAB-INF do that Bill hear-SuBJ c4.happiness c7-time AM.c7-QUANT
Elsa knew how to keep Bill happy all the time.

h) same as g (no other possible translation)
Elsa kept Bill to be happy (* for English speakers if Bill is the one who is happy)

i) Elsa ndad sa na Bill dig di da ikd dza dzéf
Elsa na-d sé nd Bill di-g di da I-kd d3a d3-€f
Elsa PRN.3.sg-P2 do that Bill HAB-SUBJ HAB eat c8-vegetable c7.time AM.C7-QUANT
Elsa made Bill to eat vegetables all the time
J) Elsa nddma kaambila na Bill dag ika
Elsa na-ama kaambils nd Bill da-g i-kd
Elsa PRN.3.sg-P2 stop that Bill ear-suBJ c8-vegetable
Elsa kept Bill from eating vegetables.
Comment: KS: The same verb in English, keep, allows both the maintenance of Bill eating
vegetables, as in (A52i) and the prevention of him from doing so in (A52j). Which of these
meanings does 52j have? NI: (52j) has the meaning of ‘preventing Bill from verbing’
A53a) [ mpujow n3 i di tfijdow n3 bwdogu i s3 buma
i mpu-jow nd i di tfi-jow nd bwoogu i sa buma
PRN.3.sg Know-PASS that PRN.3".sg HAB say-PASS that c5.melon SM.c5 COP fruit
It is known that melons are claimed to be fruits.

b) /' nga tfijow nd bwoogu i s3 bumad



i nga tfi-jow nd bwoogu i sa buma
PRN.3".sg PROG Ssay-PASS that c5.melon SM.c5 COP fruit
It is claimed that melons are fruits.

C) Buud 6 nga bugila nd okwongl bwéé ba na mpuu

b-tud 6 nga bugia na o0-kwongi bwa-é ba na 6-mpud

c2-person SM.c2 PROG believe that c2-flood PRN.1%.pl-F1 be with c2-rain
People believe that there will be floods with the rain

d) Maud jéf nga bugta ns odgon bwéé ligja wé ngwamina di

m-uud j-€f nga bugila na o-dzén bwa-é ligja woé ngwamina di
cl-person AM.c1-QUANT PROG expect that c2-visitors PRN.1%.pl-F1 complain to authority LOC
Everyone is expecting that the tourists will complain to the authority.

A543a) Impossible to translate in Makaa
That the inspection takes place at 3 o’clock was required by the officers

b) Impossible to translate in Makaa
That precautions would be necessary was expected.

c) Impossible to translate in Makaa
That the prisoner was guilty of more than one crime was never revealed (to the judge).

d) Impossible to translate in Makaa
That the protestors would be arrested was never told to us.

e) Bwdd [igé bwalé dzaw s3 nd bwéé bii bwan kand bwa mimbuugif

bwa-d [i-g€ bwalé dzaw sd nd bwa-é bii b-udn kand bwa mi-mbuug-i
PRN.3".pl-P3 EVID.PAST-NEG never tell PRN.1%.pl that PRN.3".pl-F1 arrest c2-child send PRN.3".pl c4-prison-LOC
We were never told that the children would be arrested and sent to prison.

Ab5a) Bwddma jimb John n3 a dag fjdn

bwa-dma jimb John na a da-g fjdn
PRN.3".pl-P2 force John that PRN.3".sg eat-SUBJ sauce

John was forced to eat the sauce.

b) Jean nddma I3bjow na a ku da fjdn

Jean na-ama I3b-jow na a ku da fjan
Jean PRN.3".sg-P2 advise-PASS that PRN.3.sg NEG-SUBJ sauce
John was advised not to eat the sauce.

C) Bwddma bugta na John néé da fjdan

bwa-dma bugtla na John na-é da fjdn
PRN.3".pI-P2 believe/think that John PRN.3".sg-F1 eat sauce
They believed that John will eat the sauce.

d) Bwddma kaambila nd John dag fjdn

bwa-dma kaambila nd John da-g fjdn
PRN.3".pl-P2 prevent that John eat-SUBJ sauce
They prevented that John eats the sauce



) Jdma nga biingjow na John nga gwag mpimba na tfjé na mpanda dgugwadn
i-ama nga biing-jow na John nga gwag mpimba na tfjé na mpanda agugwdn
PRN.3".sg-P2 PROG state-PASS that John PROG hear angriness with why of because law new
It was stated that John is angry because of the new law
Ab6a) John nddma digjow a nga da fjdn
John na-ama dig-jow a nga da fjan
John PRN.3.sg-P2 see-PASS PRN.3".sg PROG eat sauce
John was seen eating the sauce.
b) *John nadma digjow dala fjdn
John na-ama dig-jow da-HI3 fjan
John PRN.3".sg-P2 see-PASS eat-INF sauce
John was seen to eat the sauce. (*for English speakers)

c¢) Impossible to translate in Makaa
John was seen to have been eating the soup (? or ?? for many English speakers).

Ab57a) Jama tfijow na sé nkul kjaj
i-dma tfi-jow na s3 nkul kjaj
PRN.3".sg-P2 said-PASS that PRN.1%.pl can leave/go
It was said that we could leave

b) Jdma tfijow n3 bwéé bid n s3 kjdjig

i-dma tfi-jow na bwa-é bid n3 s3 kjaj-ig
PRN.3".sg-P2 said-PASS that PRN.3".pl-F1 allow that PRN.1%.pl leave-SUBJ
It was said that they will allow us to leave

C) Bwddma dzaw mantfwadmd na séé gwag mpimba na odzakds

bwa-dma dzaw ma-ntfwadma na s3-é gwag mpimba na o-dzakds
PRN.3.pl-P2 tell c6-boy that PRN.1%pl-F1 hear anger with c2-donkey
They told the boys that we will be upset at the donkeys.

Ab58a) Ja dzawjow dntambije nd bwa jag bwan idin
-G dgaw-jow o-ntambije nd bwa ja-g b-udn i-din
PRN.3".sg-P3 tell-PASS c2-servant that PRN.3".pl give-SUBJ c2-child c8-food
It was said to the servants that they give food to the children.

b) Bwéé [ila ontambijé wala muud nkudl fi madswa ful nd ma ku bl fwaag
bwa-é [ila o-ntambije wala m-uud nkal i madswa ful nd ma ku bul fwaag
PRN.3".pl -F1 ask c2-servant time c1-person can remove.from.fire c6.water for that SM.c6 NEG-SUBJ QUANT boil

The servants will be asked when to stop the water from boiling too long.

C) Bwddma [ila dntambije wala bwéé dzaw odzon na dswéw i sa nki baw
bwa-dma [ila 6-ntambije wala bwa-é dzaw 0-d3on nd dz-woéw i sa nki baw
PRN.3".pl-P2 ask c2-servant time PRN.3".pl-F1 tell c2-visitor that c5-day SM.c5 COP bad
The servants have been asked when they will warn the tourists about the weather.

Ab59a) Bwéé dzaw buudad n3 bwa jag bwdn idin



bwa-é dzaw b-tudd na bwa ja3-g b-udn i-din
PRN.3".pl-F1 tell c2-woman that PRN.3".pl give-SUBJ ¢2-child c8-food
The women will be told to make the children eat.

b) Bwddma dzaw buudad wala madd nkul fi madzwa [ul né ma ku bdl fwaag

bwa-6m3 dzaw b-uidd wald m-uid nkil i madswé [dl nd m3 ku bul fwaag

PRN.3".pl-P2 tell c2-woman time c1-person can remove.from.fire c6.water for that SM.c6 NEG.SUBJ QUANT boil
The women have been told when to stop the water from boiling too long.

C) Bwddma nga dzaw buudd wala bwém d33ld nd dsaw 6ds6n nd dswéw i s3 nki baw
bwa-dma nga dzaw b-uldad wala bwa=m3 d3ald nd dzaw 6-dzén nd dz-wéw i sa nki baw
PRN.3".pl-P2 PROG tell c2-woman time PRN.3™.pl=COP ough to tell c2-visitor that c5-day SM.C5 COP COP bad

The women are told when they should warn the tourists about the weather.
A60a) Bwdd tfi na mantfwama na Bill ndad tfjel kdlad
bwa-d tfi na ma-ntfwadma na Bill na-a tfjel kdlad
PRN.3".pl-P3 tell to c6-boy that Bill PRN.3".sg-P3 like book
The boys were persuaded that Bill liked the book.

b) Bwdd tfi na mantfwamad na bwa digig zan
bwa-d tfi na ma-ntfwadma na bwa dig-ig zan
PRN.3".pl-P3 tell to c6-boy that PRN.3.pl see-SUBJ ceremony
The boys were persuaded to watch the ceremony.

A61a) | could not find a possible translation in Makaa
Those remarks suggest to me that he is worried about our proposal.

b) Jama tfijow néd bwdn 6 fikil 6 nkul kiab mavagilé maga
-dma tfi-jow nad b-udn ¢ [ikal 6 nkal kiab mavagié ma-ga
PRN.3".sg-P2 say-PASS that c2-child ASS school sM.c2 capable succeed c6.exam DEM.c6
It has been said that the students are capable of succeeding to these exams.
C) Jama tfijow na bwdn 6 [ikil 6 di gwdg mintaag dzd mavagié mda ldlé ma
i-dma tfi-jow nad b-udn ¢ [ikal 6 di gwag mintaag dza mavagié ma-d lal-€ ma
PRN.3'.50-P2 say-PASS that c2-child ASS.c2 school SM HAB hear c4.happiness when c6-exam SM-NEG strong-NEG REL
It has been said that the students are happier when the homework is interesting.



